2. A host with IP address 137.23.56.23/16 sends a packet to a host with IP address 142.3.6.9/24. Is the delivery direct or indirect? Assume no subnetting.
-> Indirect : Two hosts have different netids (137.23 and 142.3)

4. In Figure 6.8, find the routing table for router R2.  
	Class
	Destination
	Next Hop
	Interface

	A
	111.0.0.0
	-
	m1

	B
	145.80.0.0
170.14.0.0
	111.25.19.20
111.25.19.20
	m1
m1

	C
	192.16.7.0
	-
	m0

	Default
	
	Default router
	m1



6. A packet arrives at router R1 in Figure 6.8 with destination address 145.80.14.26. Show how it is forwarded?
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]Destination Address : 145.80.14.26
Binary : 10010001 01010000 00001110 00011010
[bookmark: _GoBack]Shift 28bits to the right : 00000000 00000000 00000000 00001001 = 9
The Class is B, Network address is 145.80.0.0
Next hop address in routing table is blank. So  next hop address is destination address and interface is m1

8. A packet arrives at the router in Figure 6.11 with destination address 145.14.192.71. Show how it is forwarded?
Destination Address : 145.14.192.71
Mask : /18 Network address : 145.14.192.0 (145.14.192.71 AND 255.255.192.0)
Next hop address : 145.14.192.1 and interface : m3

10. A packet arrives at router R1 in Figure 6.13 with destination address 201.4.16.70. Show how it is forwarded?
Destination address : 201.4.16.70
Mask : /26	Result : 201.4.16.64 (201.4.16.70 AND 255.255.255.192)  No Match
Mask : /25	Result : 201.4.16.0 (201.4.16.70 AND 255.255.255.128)	No Match
Mask : /24	Result : 201.4.16.0 (201.4.16.70 AND 255.255.255.0)	No Match
Mask : /22	Result : 201.4.16.0 (201.4.16.70 AND 255.255.128.0)	Match
Next hop address is 201.4.16.2 and interface is m1
12. Show a routing table for a host that is totally isolated
For totally isolated host, there are no subnets, next hop address, and interface number. 

14. Find the topology of the network if table 6.3 is the routing for routing R1:
[image: ]
16. Can router R1 in Figure 6.16 receive a packet with destination address 140.24.7.42? Explain your answer.
If the Packet with destination address 140.24.7.42 on Router R1, it gets sent to interface m0. If it arrives at R2, it gets sent to interface m0 and then to router R1. And if it arrives at R3, it gets sent to interface m2, to router R2, then sent to router R1. The only way router R1 can get the packet is if the packet comes from organization 2, 3, or from router R2. It goes to R1 and is sent out from interface m0.

18. Show the routing table for local ISP1 in Figure 6.17?
	MASK
	Network Address
	Next Hop
	Interface

	/23
	120.14.64.0
	-
	m0

	/23
	120.14.66.0
	-
	m1

	/23
	120.14.68.0
	-
	m2

	/23
	120.14.70.0
	-
	m3

	/23
	120.14.72.0
	-
	m4

	/23
	120.14.74.0
	-
	m5

	/23
	120.14.76.0
	-
	m6

	/23
	120.14.78.0
	-
	m7

	/0
	0.0.0.0
	Default router
	m8



20. Show the routing table for local ISP3 in Figure 6.17?
last address = host IP OR not(subnet) = 120.14.122.0 OR NOT(11111111 11111111 11110000 00000000) = 120.14.122.0 OR 0.0.15.255 = 120.14.127.255<- l
	MASK
	Network Address
	Next Hop
	Interface

	/24
	120.14.112.0
	-
	m0

	/24
	120.14.113.0
	-
	m1

	/24
	120.14.114.0
	-
	m2

	…
	…
	…
	…

	/24
	120.14.124.0
	-
	m12

	/24
	120.14.125.0
	-
	m13

	/24
	120.14.126.0
	-
	m14

	/24
	120.14.127.0
	-
	m15

	/0
	0.0.0.0
	Default router
	m16
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